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L.

PHYSICS

F—f=ma
and /R = la
for Rolling = o R

speed v =10m /sec

a=_—

R

|i?| = constant

Soa ol —
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4. Emwawve
PR
E =27V /m

we know -—}E:C
B

27

S0 B=————=9x10"'T
F3x 10
now for A = 3){1{]: =1.5%10"m
2x10

50 B=9%10"sin| 27 ( ! ]_t:—.?:v:l{]”f k
1.5x%107®

5 F=(§Jm

k 15 some constant

e —
80 — = — —y = constant <EHg =
r r
T 2rr e
v
Tocr e
straight line

6.  Time =5 min =300 sec.

Volume = 15 Itr. = 15107 m’
Dimmtﬂr=icm
Jr
1 2 * v
Areanftap=n(ﬁxlﬂ ]=l{] M

V 5% 107 1

i =—= =—m/sec
Velocity of water T el 50, 3
g -2V
4)

=5649=5500
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7. Forcylinderical

A=
R

no option

e Jikﬂ'l:rﬁi::
!dE I h‘1+ X

Jid

E"JK&E&TI xde (1)
h1+x )

xalx

T ![hl + :.uzl)l;l

x=htan#

v = hsec” 040

/ _!htanﬂxhsecl Belx
3 hsec’ @

1 h
Fgsi
f“{ﬁ'f+}tg J

Put it in equation (1)

B J_h ~ 1 A=l
2,| 2+,

_ohf1 1
2¢|a 2a
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0, C=e"aic

Capacitance ¢ = [M"L“?AET‘]

E=:AT] a"=[L]
em| LT
h=[M'PT

(ML | =[4arT[L) (M2 | [ L7 ]
Compare x=2

z=-]

M= AT e
AETEM—IL—ETI =[L]lL I:LIT I:|

rs 2|}

3
ea,

S0 u=

he
== a=-1

= yp=1

10.  Using perpendicular axis theorem. l

Ma* ”

f
12 ,.f"'f

11.  angular magnficationon m :& =—=30
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12. V,x+JE

I =nedl, vV

ﬂﬂdﬁz%

50 Eoc

and f o}

S0 [ ocAfl

"l

ey
o

13, Electron concentration in n-region is more as compared to that n p-region

14. xccsing _E sin 2¢

att=0  x & velocity both has to be zero

15. [,F_'I,}d:v-:a- h

to go straight otherwise diffraction will occur

l6. Circui

50

(b)
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1,
17. Emrg}'c-fpmtnn=5 F=ql

2qV

18. momentum P = ,fgm_{—: and E=el

h
2mkE

A:E:
P

B 6.6 107
N2x9.1x107 x1.6x107" %50

=1.7x107" M

=1.7A

0.58+0.54+0.56
a 3

x =0.56

so value =0.56 + error
={0.56 +0.03
=0.59cm
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20, mR= ﬂ—k i)
2T

2
auriel qt&S':ﬂ
R

2l. x=agsmwit
y =asin 2wt

y = 2asin wicos wi

i ¥
y=2xJ]1 —
o ﬂl

y= 5.r,j{a—.n:}{a+x}

22.  Onouter surface there will be no charge.
So0 =0g,=0

On inner surface total charge will be zero but charge

distribution will be there so

0,=0 &, %0
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23,

24,

Ifblock to come to rest after 2m.

giig=t"
2
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L=0.05

— > |lokg|

a= pug=0.05%10=0.5m/sec’ V
- =2%2%05=2

l =1,Emfsec

by momentum conservation

V2 (10+50%107) = (50x107 )x V"

‘\ﬁxlﬂ oy

approximately Gl

V = 20042 m/sec
%

50 —= 202
10 V2

to get V' =202 m /sec
V*=2gh

= @ = 40m
20

The block comes to rest means its velocity at that point was 3 m/sec.
So that point

K.E.:lxmvl
2

s

2M

l a_“{:ﬁ'ﬁi
= —x0.1x(3Y
> «(3)

=02 =(.45.J
2

at displacement %

P.E.le.E.
4

K.E.=ET.E.
4

So T.E.= %x 0.45

=061
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53, f*=(3zﬂ+m]xgﬂm
320-10 L
—_—

=330 8000 )

310 f = 8000 Hz
- 8516 Hz

ANRNRRRRNRRNNY

26. Pa

ﬁ/f-_l:r

\

27. {=20em
r=2cm
N =500 turms

i=154

. 500x15xmx(2x107)
M = :
7(2x107) x25x107

o 15 = 500
T 25%107

)
= TR _ so600.4m

28, F=——
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29, u=-10em
v=+15cm
F=3
I |
_—t =
vou f
L L 12
15 10 f R
= m
150 R
R 2 e
5
5
j=— 10w :
30. e L 10 ;
50 25 4
SE S g o 15v
——rtr——
25 .62
V=15——x0.6
: ®
Py
— lﬁ—E
8
=13.1volt
CHEMISTRY
1.  Metal oxide calculation is the process of heating ore in abscence of air

e.g. Calcium carbonate gives CaCO, —=— CaO+ CO, as calculation.

2. Onlytemporary hardness which s due to HCO, (Bicarbonate) ions1s removed by Boiling.

3. NOy, == 2INO,
t=0 1 0
t =equilibrium |- 2o

where ¢ = Degreeof disociation.

(1—et)x My, +2a+My,
(1+a)

Now, As per Ideal gas Equation

PV =nRT

PM =dRT

Bl W TS

_PM,,  1x76.66

RT  0.0821x300

Mol .wt Mixture = = T76.66

=3.11¢gL
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4. Starch is a mixture of amylose & amylopetin poly saccharides and monomer is glucose.

5. Cis [ Ni(H,0),(NH,), | &facial [Ni( H,0),(NH,),]" have opticalisomers.

[ Ni [ H.00), (NH, }:] GEOMETRICAL| ISOMERS [M‘[H 0),(NH,), _l'!

H.0 NH, H.0 NH,
EH.\ /H_.IJ I{_JD\ /NIL NIL\ /T—LU NH, \ / H.O

Ni /"‘w\\ Ni N
HH.// \I L.O | HO NH, | NH / \H 0 "ﬂ-l‘/ \NH_‘

H,0 NH, NH, H.O

MERINONAL
Ciy Frans Faviul

6.  Fluorine is the most electronegative element & has least tendency to form double bonds.

M:v:l‘_
0

12

7. Miliequivalents of /1,50, = 60x

M
Mili equivalents of NaOH=20 :a-:ﬁ =7

Mili equivalentsof NH, =12-2=10

1.4x( N xV)NH,
W

Y% of Nitro Zcn =

14x10
B i T

10

8.  Dmgs which relieve pain is called analgesics.
Non-narcoties :- aspirin { acetyl salicylic acid)
paracetamol (parahydrous acetanilide)

9. In XeOF,,Xe is sp’d", hybridised having 5 Bond pairs & 1 lone pair
SHAPE: Square Pyramidal
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10. Basicity o +M group

1

o

—M group
NH, NH, NH,
-=i O {1{ CH—NH,
-Mgp +Mgp

( L.P is not involved in conjugation .. it 1s more basic )

11.  The sequence of filling electrons in sixth period :

6s—4f—5d—6p ic (ns)—>(n=2)f —>(n-1)d —np

12.  (Thermalstabilityof o= lonic character hydroxdies) or Lattice energy

Mg(OH), < Ca(OH), < Sr(OH), < Ba(OH),

13.  Weight of Hydrated BaCl, =6l1g

Weightof AnhydrousBaCl, = 52¢

Loss in mass =9g
Assuming BaCl,. x/H, 0 as hydrate

Massof H,0=9¢

9
Molesof H,O= 18 =03

Grass molecular let of BaCl, =208

9 18x
0 in thi BaCl, = —x100=14.75% =——x 100 i _
Yo 0f H,O i this hydrated batl, 6l ® = 08 I8 * W onsolving x=2

This percentage is present in BaCl,.2 H,0
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8]

COOK 'Il:l-—{]‘

14. QQ clectrolysis @
L >
-2C0O.¢

COOK t|::_{j-
{j ]

ok

L

16.

17.

18.

19.

20.

Stable due to aromatic

Polymer Use
Polystyrene Manufacture of toys
Glyptal Paints and lacquars.
BV.C Rain Coats
Bakelite Computer discs
(1 ¢l 2y ¢l (3) Cl (4) Cl
O
{Chiral) (Chiral) (Achiral) Chiral

557 5p" valence shell configuration of group 16 element present in period 5.
Tellurium(Te).

After adsorption these is decrease in the residual forces due to bond formation. AG, AHf & AS allare
negative inthe case of adsorption,

EMF of galvanic cell =1.1volt

If £, < EMF thenelectron flows steadily fromanode to cathode while If £, = EMF thereelectron flows
from cathode to anode as polanty is changed.

Fe*, radical gives blood red with gCN-
¢7- radical giveschromyl chloride Test.
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21.  Chemical pollutants in photo chemical smog are Nitrogen oxides (NOand NO,), volatlie organic compounds,
Ozone (O,), peroxyacetylnitrile,
22, Hell- volhard- Zelinsky Reaction
0

8]
I i/ Red ' P ]
CH,—C=0H L CH, -C-0H

Cl

23.  (p™ ionisprecipitated by H,S & NH OH presentin group IV cationic Analysis

24, Athigh pressure real gas particles are easily compressed which was later gives by van-der waal sequations
as per kinetic theory.

25. First order reaction rate = ].{[NEDS]

2N,0, ., —— 4NO, +0

Sg) 2e) 2{g)

t =0( pressure) 50 0 0
t =30min( pressure) 50-2p 4p p
Total pressure 50-2p+4p+ p=50+3p =87.5 mmHg
S P=12.5 mmHg

. £ =50& P =25 for N, O, reactant

2.303 50 2.303 50
v K= —xlog = —x log| —
30 min 25) 60min X

Onsolving x=12.5 mm Hg=50-2p
s P=18.75 mmHg
- Total pressure =50+ 3p =106.25 mmHg

26. Total V.P.ofsolution = P/ X + P X,

Total V.P. of solution = (1?5 X747+ 3?5 %223 ] i

=(15.6+22.4) torr=38torr

Mole fraction of Benzene invapour form — 224 =(.589
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X
CH, CH.
CeHs—CH,-C —% 5 CH,-CH =C\
(A) .;|:| CH CH,

28.

29,

30,

2,

it eives white ppt with AgNQO,
(g pp gNO,) i) 0.

(i) Zn/H.O

P
|
C.H,-C-H+CH,-C-CH,
(C) (D)

(it gives cannizaro (It gives aldol only )
only )

Ligand donats electrons to metal. In methan there 1s no electron to donate it is stable with octet configuration

In CH, 4xBE =360 KJ/mol .. BE, ,, =90 Kl/mol

(C—H)

In C,H, BE, . +6xBE . =620 Kl/mol

[C=) | C-1)

-. BE ﬁ:E{] KJ/mol

. (C—C

80x 10°

8 = g e ecule

5. 1B

Now, £ = h—i
A

B 6626107 x3x10* x6.023 =107
B 80x10°

S A=1.49%10" nm

. A

Assertion is correct but reason is Incorrect. Bonding MO involves contructive interference.

MATHEMATICS

Let average wage of Night shift worker s x
T0x 54+ 30 x =60x100
x=74

Conduction for Rolls theorem
A =Ai-1)

1
and f{E}:ﬂ
l
c=—2andb=—
2

2b+ec=-1
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3. Solving
p+2x° =0
y+3xt =1

Points of intersection (1 , -2) and (-1 ,-2) /\
|
Area= Ef{(l—E_tl)—[—hl)}dx
0 {--1,2,/]/V \[\l,—l]
3

4. A(ﬂé] B(1,3) C(89,30)

Slope of AB = %

Slope of BC =l3

So, lies on same ling

3 Question ncomplete.

Hence, Option is not matching,

7. [B+4-124+13)=|-9+0-12+13|

~122 +20| =8

3IA-5|=2

91°+25-301=4
91> —301+21=0
IV —104A+T7=0

8.  f(x)=2tan"'x+m—2tan"'x
[x)=n
‘f{5}=;ﬂ:
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9. a=2+3:;p=2-3i

10.  hyperbola is

]
foci ofellipse va* -4 =g ——
¥ 413

13-4 =1
h* =12

equation of ellipse

II-.' VE

13 12
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1. aa.a,
=3—ﬂ=13
3
d=3

sum of last four term =178

d, ;d, . d o

-l i

Theirmean = lqﬂ =44.5

a =44.5+1.5+3
= 49

10+49 59
3. 2

Median = =295

12.  n(p)=25%
n(c)=15%
n{P’uC*}: 65%
n(PuUC)=35%
n(PACy=n(P)+n(C)-n(PuC)

25415-35=5%
xx 5% = 2000
x=40,000

[ix
13. f{l]: L
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14, JrCJ' —_ i t.:“HI — ”CHJ_
1 7 42

15,

16.

By solving line get r==6

so, ifis 7" term.
‘E‘r+5‘ =%
angle between @ and b is60",

i x b is L to plane containing g and p

E=E+l§+3[&xﬂ)

c =\]|al+4\5f+z.z|a|3 cos 60° 7, +3]a[|sin 60",

+3(al|b|sin 60°.,
i, 1",
e ={l+4+2}+9x%

€[ =7+27/4=55/4

2|é| =55
S0, = 14 _=42
sin 45
Equationoflne L
x ¥y AN
2 4 w
2x+y=4......... (1) Ty
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embibe
g BB
sin B
in(105"
Sl.n{—“)=3+\f’?_ﬂ
Eiﬂ[:lﬁ )
cosl 5’ =2+J§
sinls”
4
18. OP= — p(o.h)
..!"f Tli-'l.""\

OB = 4 5 / -4”
e A 0
16 32 / K_/

Area= OPx OB =— =—
sinf/cosf?  sin2d

least value 5sin20 =1 8 = 45"

2_r£"1+sinx
19, Lim—
=0 Vg X COSX

R

20. i{rl—r—ﬁ) = 7780
r=lh

21.  Giventhat y+ 3x = () equation of a choral of the circle then
y =-3x....{i)
4 (=3x) -30x=0
10x"—30x =0
10x(x—3)=0

x=0y=0
so the equation of the circle is

(v=3)(x=0) (3 +9) (y=0) =0
X =3x+1y+9y=0
X+ =3x+9y=0



® JEE MAIN 2015

embibe Detailed Solution - online 10th April

dx
(x+ 1)3"4 (x— 2)5”

z:a.!

dx

B

x+1

Lt
P x—2

=FE

-3 _d!‘
(x-2)" dx

23, Given that

x=2cost+ 2rsint

elx . .
$0,— = —2s8int +l[tms:+ smr]

ot

%:lmst—?.[—:sint+mst]
{

dy _ 2tsint
dv  2tsint

d
—'p=tan£
dx

[ﬁ] -1
dx ) 4

s0 the slopw of the normal s -1

AT
232

to the equationof normal is

[_}*—(ﬁ—ﬂfﬂ«ﬁ.)] =—1[(_~;—[J§+mzﬁ))]

and atl=m/4x =2+ aﬂdyzﬁ—xflﬁ

y_ﬁ+%=_;+ V2+7/22

x+y= gﬁ 50 the distacne from the ongin is 2
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x=1_ p+l _ 2=
o = 1

24, =L

x+y+z+1=0

2x—y+T7+3=0=L,
sopoint P(0,1,-2) [online L |
point onother line [online L |
Q(l,-1,0) [onlineL,]
Q(l,-1,0)

PO=i-2j+2k
vector 1l to line ]_2

=2+ j-3k

i=20+j(3a+2)+k(a+2)
distance=PQ.m

_ 2-2Ba+2+2(a+2) 1

_ J4+{3a+2)2 +Ha+2) B

=3(2-4a) =10a” +16a +12
=5 6[1+4a” —4a |=5a’ +8a +6

=19a>-32a =0

R

—a=—
19
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25.  Given that

A+I=A4"-4
—J+f=4-4

A=A

26. Required probability is

{'"C‘n)z +("'C )1+{'“C'1)1+ ....... ['“{i‘m)z
2“'!

27 Iz—r‘p*+ﬁ:{:l

4x—y—10+12=0

centre of circle (—4 , 2)

x+4 _y-2_ (16-2+2)
4 = 17

28.  The centre positive of the statement s “1f1 willcome, then it is not raining ™
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29, Radius

4+1

cP=""_
V2

—4',=;+1]""‘
:? +

30. {w+z)i P +dx-9 xx-2

dy  x"+4x-9
dx 2

2
dp:‘t +4_x:—‘}dx
) x+2

oy 9
j‘dy j‘ x+2

y= I(:+l——]dx

P j{_::+ 2)dx -

F=%+2x—l31ﬂg|_t+l|+f

Giventhaty=(0)=10
0=-13logz+c
T

_v=%+l¥—131ﬂg|1+2|+131ﬂg2

y(—4)=8-8-13log2+13log2 = 0



